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Part A

Answer all gquestions briefly.
Each guestion corries 1 marh.

Fiil up the blanks ;
1. During anisothermal process ———— remains & constant.
2. All the reversible engines working between the ————— temperature limits have the sgie
afficiency.

3. For the same compression ratio the efficiency of an Otts engine is more than g

4. For airreversible process the————— always increasa,
BE. A black body completely abgorba heat radiations of all ————— lengths,
G. DBosons are ———— particles.
7. MB distribution allows all the particles to accessall —— lovels,
£. Fermions are characterised by ————— wave funclions.
Part B

Ansiver any' six guestions,
Ench question carries 2 marks.

9. Btate and explain Carnot's theorem
10. What iz meant by absolute zere ? Explain.
11. Obtain work done during an tsothermal process.
12. Explain the change in cntropy during a reversible process.
13, Briefly explain adiabmlic elasticity.
14. What is TS diagram ? Explain.

— pngine.
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State and explain Rayleigh - Jeans law,
What are micro states ¥ Explain,
What is phase space 7 Explain.
What is thermodynamic probability 7

(6x2=12)
Part C

Answer any four quesiions.
Each gquestion carries 4 marks,

Caleulste the work done during an isothermal expansion.
A Carnot’s engine working between 127°C and 27° C. What is the thermal efficiency of the engine ?

Determine the change in entropy when 100 gram of ice at zero degres centigrade is converted into
water at the same temperature.

Calculate the maximum amount of energy lost per second by radiation by a sphere 10em diameter
at 227" O when placed in an enclosure at 27° €.

Obtain Clausius - Clapeyron eguation frem Maxwell-Boltzmann law.

Compare FD and MB statistics.
{4 x4=186)
Part T
Answer any two questions.
Eack guestion carries 12 marks.
Describe the working of a Carnot's heat engine. Derive an expression for its efficicncy.

Describe with diagrams the working of a diesel engine and obtain the expression for efficiency.
Deduce the Maxwell equations and use them to obtain Tds equations. |
Derive the MB distribution law.

(2 x12 =24)




